PDPYPE Bicb : A H
X EMBOWRE 3
(BElYYIN3H) 2%z

| | 4.9LDOE I HT7.84kgDEDH Y F T,

CHOLXILOETIIM[MkgTT 5,

0 7.84  (kg)
0 | 4.9 (L)
<

21 0.6MOARNDITINEIZ I > 5, 40.2g7TL =,

CHRDIT) ImDEXIIMAgTT H,

0 40.2 (9)
0 0.6 I (m)
=,

@ HER % @“@?%’@3%@?%@



PDPYPE Bicb : A H
X EMBOWRE 3
(BElYYIN3H) 2%z

| | 4.9LDOE I HT7.84kgDEDH Y F T,

CHOLXILOETIIM[MkgTT 5,

0 7.84  (kg)

0 | 4.9 (L)

A 7.84+-4.9=1.6

%‘71[ 1.6 kg }

21 0.6MOARNDITINEIZ I > 5, 40.2g7TL =,

CHRDIT) ImDEXIIMAgTT H,

0 40.2 (9)

0 0.6 I (m)

& 40.2+0.6=6"7

@ R Ex % @“g?@’@%%@fvﬁ





